2 over 1 QUIZ—OPENER REBIDS
You open laand partner responds 2«. What is your rebid?

4 AQJxX 9 XX CAXX #QxX

aQxxxx 9 AQ ©AQ & XXXX
24 AQJIXX v AQJL1OX OXX #X
a Alxxx o KOQXx ¢QLOXX #X
4 KOxxx o AX 0AKJIXX #X

4 AJ10xx 9 Ax oKQx #Qxx
4 KQJIxX o Kxx ox &AQJX
24 AKQIXXX 0 KXX OXX #X

4 KQJxX 9 AKX 0AJX #XX
4 KQJxx 9 AKX oxxx #AQ
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You open 1v and partner responds 2¢. What is your rebid?

11. & KIXX 9 AQIXX ¢QX & XX

12. a AxxX 9 AKIXX ©10xXx & QX
13. aX 9 AKIXX OXX & KXXXXX
14. 4 AX o KQJxx oxx &AKJX
15. 4 AKJIX 9 KQJxx ¢AJX #X

16. axX 9 AKQXX 0KOQXX & XXX
17. axx 9 AKJIxx ox #AQ10xx
18. & Kxx o AKQxx ¢KQJX #X
19. axXX 0 AQXXX CAQXX # XX

20. AKX 9 AQJIXX ©QX & XXX

You open 1laand partner responds 2. What is your rebid?

21, 2 OQxxxx 0Jx ©QJx & AKX

22. &« AKQXXXX o XX AKX #X
23. o AKXxX 9 KQXxX oX & QXX
24. &« AKIXXX 9 KX 0AQX #XX
25. o AQXXXX 0 KXX 0KXX #X
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ANSWERS TO 2 over 1 QUIZ
2S default—cannot bid NT with hearts unstopped. Do not have extra values to
support clubs at 3 level.
2N—even though you have 4 clubs, you do not have extra values to support
clubs at 3 level and you REALLY want to grab the NT to protect your AQ and
AQ in red suits.
3H—this shows a 5-5 hand with at least a good 14 HCP (or more).
2D—show your second suit
3D—jump in your second suit. Note the huge difference in strength between this
hand and hand #4. Here you are showing a 5-5 hand and extra values.
3NT—this jump shows 15-17 (a hand that could have opened INT originally)
and guarantees stoppers in all unbid suits.
3C—now you have the extra values to raise partner's suit to the 3 level. Again,
you are in a game force so need not be worried that partner will pass.
4S—this shows a solid suit, but denies slam interest (fast arrival).
2NT—this rebid shows EITHER 12-14 HCP OR 18-19. Since you have the
latter, you will be making a slam try after partner makes his/her next bid. If you
hear 3NT next, you will make quantitative raise to 4NT, showing your 18-19
HCP.
25—default bid. Does NOT guarantee 6 spades. Cannot raise clubs and cannot
bid NT with diamonds wide open.
2S IF you have the agreement that this does NOT show extra values. If you
agree that 2S would show extra values, you must rebid 2H (default). Cannot bid
NT with clubs unstopped.
2H—default. You can bid 2NT with Qx of clubs if you like living dangerously. It
will work out many times.
2H—default. Bidding 3C would show a MUCH better hand than you have.
3C. You have plenty of extra values. Make your high-level reverse showing your
second suit.
25—rplenty of time to support diamonds later. For now, continue to bid out your
pattern. You have extra values even if partner plays that 2S shows extras.
3S—this is a SPLINTER in support of diamonds.
2H—default. You are not strong enough to show clubs at 3 level.
4C—this is a SPLINTER in support of diamonds.
3D—with 4 card support, a minimum hand is OK to raise to 3 diamonds. You
deny ability to splinter.
2H—default. Cannot bid NT with clubs wide open.
2NT—minimum hand. All other suits stopped.
3S—solid suit and slam interest.
AD—SPLINTER in support of hearts.
25—most descriptive rebid. You really do have 6 cards this time.
25—most descriptive rebid.



